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What would happen to the equilibrium price and quantity of coffee if the wages of
coffee-bean pickers fell and the price of tea fell?
a. Price will fall and the effect on quantity is ambiguous.
b. Price will rise and the effect on quantity is ambiguous.
c. Quantity will fall and the effect on price is ambiguous.
d. Quantity will rise and the effect on price is ambiguous.
A tax of $0.25 is imposed on each bag of potato chips that is sold. The tax:

e decreases producer surplus by $600 per day;

e generates tax revenue of $1,220 per day;

e decreases the equilibrium quantity of potato chips by 120 bags per day.

From this information, it follows that the tax 7

decreases consumer surplus by $645 per day.
b. decreases the equilibrium quantity from 6,000 bags per day to 5,880 bags per
day.

¢. decreases total surplus from $3,000 to $1,800 per day.
d. produces a deadweight loss of $15 per day.
At the 2005 annual meetings of the American Economic Association, Paul J.
Ferraro and Laura O. Taylor of Georgia State University asked some 200
economists, many with PhDs from top-economics programs, a simple question:
You won a free ticket to see an Eric Clapton concert (which has no resale value).
Bob Dylan is performing on the same night and is your next-best alternative
activity. Tickets to see Dylan cost $40. On any given day, you would be willing to
pay up to $50 to see Dylan. Assume there are no other costs of seeing either
performer. Based on this information, what is the opportunity cost of seeing Eric
Clapton?
a. 80
b. $10
c. $40
d. $50

Scenario 1. Imagine that two oil companies, Lexxon and PB, own adjacent oil fields.
Under the fields is a common pool of oil worth $48 million. Drilling a well to recover
oil costs $4 million per well. If each company drills one well, each will get half of the
oil and earn a $20 million profit ($24 million in revenue - $4 million in costs). Assume

that having X percent of the total wells means that a company will collect X percent of

the total revenue.
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4. Refer to Scenario I. If Lexxon were to drill a second well, what would its profit be if

PB did not drill a second well?

a. $22 million
b. $24 million
c. $26 million
d. $28 million

5. Refer to Scenario I. PB's dominant strategy would lead to what sort of well-drilling
behavior? )
a. PB will never drill a second well.
b. PB will always drill a second well.

PB will drill a second well only- if Lexxon drills a well.

(o]

d. PB-will drill a second well only if Lexxon does not drill a well.
Table 1
Prices and Quantities
Year Price of - Quantity of Price of Quantity of
Sandwiches Sandwiches Magazines Magazines
2006 $4.00 100 $2.00 180
2007 $5.00 120 $2.50 200
2008 $6.00 150 $3.50 200

6. Refer to Table 1. Using the GDP deflator to measure the average level of prices
and using 2006 as the base year, the economy's inflation rate is
a. 20% for 2007 and 12.5% for 2008.

b. 20% for 2007 and 30% for 2008.
c. 25% for 2007 and 28% for 2008.
d. 44% for 2007 and 45% for 2008.

7. Suppose there are only two firms in an economy: Cowhide, Inc. produces leather
and sells it to Couches, Inc., which produces and sells leather furniture. With each
$1,000 of leather that it buys from Cowhide, Inc., Couches, Inc. produces a couch
and sells it for $2,000. Neither firm had any inventory at the beginning of 2006,
During that year, Cowhide produced enough leather for 20 couches. Couches, Inc.
bought 80% of that leather for $16,000 and promised to buy the remaining 20%
for $4,000 in 2007. Couches, Inc. produced 16 couches during 2006 and sold each
one during that year for $2,000. What was the economy's GDP for the year?

a. $32,000 :
b. $36,000
c. $40,000
d. $52,000
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Figure 1. On the graph, MS represents the money supply and MD represents

money demand. The usual quantities are measured along the axes.
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8. Refer to Figure 1. If the relevant money-demand curve is the one labeled MDy,
then the equilibrium value of money is
a. 0.5 and the equilibrium price level is 2.
b. 2 and the equilibrium price level is 0.5.
¢. 0.5 and the equilibrium price level cannot be determined from the graph.
d. 2 and the equilibrium price level cannot be determined from the graph.

9, Refer to Figure 1. Which of the following events could explain a shift of the
money-demand curve from MD; to MD;?
a. an increase in the value of money
b. a decrease in the price level
c. an open-market purchase-of bonds by the Federal Reserve
d. None of the above is correct.

10. Refer to Figure 1. Suppose the relevant money-demand curve is the one labeled
MD;; also suppose the velocity of money is 3. If the money market is in
equilibrium, then the economy’s real GDP amounts to

a. 5,000.
b. 7,500.
c. 10,000.
d. 15,000.

11. Suppose that U.S. citizens purchase more cars made in Korea, and Koreans
purchase more bonds issued by U.S. corporations. Other things the same, these
actions
a. raise both U.S. net exports and U.S. net capital outflows.

b. raise U.S. net exports and lower U.S. net capital outflows.
c. lower both U.S. net exports and U.S. net capital outflows.
d. lower U.S. net exports and raise U.S. net capital outflows.
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12. In 2009 President Obama and Congress increased government spending. Some
economists thought this increase would have little effect on output. Which of the
following would make the effect of an increase in government expenditures on
aggregate demand smaller?

a. the interest rate falls, aggregate supply is relatively flat, the MPC is small and
changes in the interest rate have a small effect on investment

b. the interest rate falls, aggregate supply is relatively steep, the MPC is large
and changes in the interest rate have a small effect on investment

c. the interest rate rises, aggregate supply is relatively flat, the MPC is large and
changes in the interest rate have a large effect on investment.

d. the interest rate rises, aggregate supply is relatively steep, the MPC is small
and changes in the interest rate have a large effect on investment
13. In a certain economy, when income is $200, consumer spending is $145. The
value of the multiplier for this economy is 6.25. It follows that, when income is
$230, consumer spending is
a. $166.75. For this economy, an initial impulse of $10 in consumer spending
translates into a $62.50 increase in aggregate demand. '

b. $166.75. For this economy, an initial impulse of $10 in consumer spending
translates into a $66.75 increase in aggregate demand.

c. $170.20. For this economy, an initial impulse of $10 in consumer spending
translates into a $62.50 increase in aggregate demand.

d. $170.20. For this economy, an initial impulse of $10 in consumer spending
translates into a $70.20 increase in aggregate demand.

14. If the natural rate of unemployment falls,

a. both the short-run and long-run Phillips curves shift left.

b. the short-run Phillips curve shifts left, the long-run Phillips curve is
unchanged,

c. the short-run Phillips curve is unchanged, the long-run Phillips curve shifts
right.

d. the short-run and the long-run Phillips curves shift right.
15. If a central bank were required to target inflation at zero, then when there was a
negative aggregate supply shock the central bank
a. would have to increase the money supply. This would move unemployment
closer to the natural rate. -

b. would have to increase the money supply. This would move unemployment
further from the natural rate.

c. would have to decfeaée the money supply.‘:fi'x-i; would move unemployment
closer to the natural rate.

d. would have to decrease the money supply. This would move unemployment

further from the natural rate.
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- 16. Suppose a lake is used for fishing. The following table indicates both the marginal
and average product of sending out various quantities of fishing boats.

Boats Fish Caught MP AP
0 0 — =
| 200 200 200
2 380 180 190
3 540 160 180
4 680 140 170
5 800 120 160
6 900 100 150

How much should the government charge each boat to ensure that there is a

socially optimal amount of boats?

a. $160
b. §180
c. $20
d. $0

17. In the case before her, Judge Runquist has heard claims by Maine potato farmers that to
order a stop to potato farming in arder to control a pest that thrives on potato plants but
does not harm them would result in a loss of profits of $3 million a year. The pest
however causes $2 million of damages to trees owned by pulp manufacturers. The
farmers have not mentioned that they could control the pest at a cost of $1 million per
year. High transactions costs have prevented the parties from reaching a private
agreement. [f she gives the property right to the
a. farmers, they will then voluntarily control the pest.

b. farmers, they will not control the pest.
c. pulp manufacturers, they will pay the farmers to control the pest.
d. pulp manufacturers, the farmers would offer a side payment of at least $2 million to

be able to grow pofatoes.

18. In the IS-LM model, a decrease in government purchases leads to a(n) in
planned expenditures, a(n) in total income, a(n) in money demand,
and a(n) in the equilibrium interest rate.

a. decrease; decrease; decrease; decrease
b. increases; increase; increases; increase
¢. decrease; decrease; increase; increase
d

increase; increase; decrease; decrease
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